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SIMPLIFICATION WORK SHEET

BOOK SOURCE SPLIT UP
STD NEW TERM Exercise

TITLE OLD

6 NEW 1 1.3

7 OLD 1 11to1.8
Simplification 7 NEW 1 1.1to 1.6

8 OLD 1 1.1,1.2,1.3

8 NEW 1 11,1.2

9 OLD 2.2

9 NEW 2 3.2

10 OLD 3.11

10 NEW 34,635,3.6
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Important Formula :

1. (atb)2=a2+ b2+ 2ab

2. (a-b)z2=a2+Db2-2ab

3. a2-b2=(a+Db)(a-

b)

4. (a+b)2-(a-b)2=4ab

5. (@+b+c)2=a2+b2+c2+2(ab

+ bc + ca)

6. a3+ b%=(a+Db) (aZ2-ab + b?)

7. a®-b*=(a-Db) (a2 +ab + b?)

8. am X gn = am+n
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11.

12.

13.

14.

15.

16.

17.

a_n = am—n
a
(@ X b)r=an x bn
[e)” _a
b) b"
-
b7
Jx=x"
3fx=x"
Yx=x
ac = 1 (where a # 0)
Rl
an= )
a
BODMAS Rule :
BODMAS
B Bracket
O of
D Division
M Multiplication
A Addition
S Subtraction

Modulus of a Real number :
Modulus of a real number a is defined as

lal = {

aifa>o
-a, if a < 0)

18.

19.

20.

21.

22.

23.

24.

Yab-4a. 4
Q/_

(a4

Una ="a

(@a-b-c2=az+b2+c2-

2ab + 2bc - 2ca

25. (a+b)2 + (a-b)2 =2 (a2+b?)
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thus |7| =7;and |-7|=7
26. a®+b3+c3-3abc=(a+b+c)(a2+ b2+ c2-ab-Dbc-ca)
27. (a + b)3=a%+ 3ab + 3ab? + b3

28. (a -b)3=a?-3a%b + 3ab2 - b3
X + %=a; then
1. x2+ %2=a2—2
1. x3 + %(aza“—Ba
iii. x - I = Ja*-4
iv. x4 + %4 =(a2-2)2-2

Virnaculum (or) BAR:
When an expression contains virnaculum, before applying the
'BODMAS' Rule, we simplify the expression under the virnaculum.

Level -1
1. 108+360f 2+ 2x3
4 5 4
a. s b.1 L .13 2 d 121
4 20 10 10

2. 2-12-{2-2)(2+2)}] ="
a.-4 b. 4 c.6 d. none of these

180x15-12x20 _ 5
140x8+2x55

a. L b. 4 c.2 d. 4
7 5

4, 5°2_38 9=1
6 9
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10.

o
wIN

b 3 o Y d.3
2 18

§of ﬂof Eof Eof504
5 7 9 24

a. 63 b. 69 c. 96 d. 84

Buy how much is three fifth of 350 greater than 4/ of 210

a. 90 b. 110 c. 120 d. 210
350 @60 Mbal cpsiml URE Serg 210 6 % RGNS Q1L 6161166
SIHHLD?
a. 90 b. 110 c. 120 d. 210
What is the value of P9 if P =7
(P-Q Q
a. 1 b. 2 = d. !
3 3 3 8
P_ (P+Q) .
—=7 aTeflev LD P
g T (pg) ¥ A
a. e b. : o 3 d i
3 3 3 8
% _% then the value of 6a+4p
3 6a—5b
a.-1 b.3 c.4 d.5
a =f . 6a+4b . .
b 3,6[66ﬂ6l) oty O D&Y
a. -1 b.3 c.4 d.5
- c’-a’ .
3/ = 4/and b/-15// then o 1
a. % b. 7 c. 3 d. none of these
v . c*-a’ . .
%— y, %:1%6 6163760 o O & 1Ly?
a. % b. 7/e C. % d. @eaubiled eIz LO60M6V
(0.000729) * x (0.09) *
a. g b. ﬁ C. ﬁ d. Q
3 3 3 3
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Level - I1
11.  27+12=
a. 39 b.5 6 c.53 d. 35
12 simplify: (561x5651>;;(31><31)
a. 530 b. 561 c. 31 x 31
e — (561><561)—(31><31)
Bre®: 530
a. 530 b. 561 c. 31 x 31
) o 3129-327
13. simplity: o1 ohs
2
a. - b. %0 C. % d. %
Y729 -327

14.

15.

16.

G(HhHGFHDH: —— e ——
G5O 3512 +3/343

b. 8/, N, d. %

a.

(SN ]

If 4x + 5y = 83; and :—);:%,theny—x =7

a.3 b. 4 c.”7 d.11
4x + 5y = 83 wimib Z’_’;:Z /, Gialed y ~ X @it wei?
a.3 b. 4 c.”7 d.11

[999% +999% + 999§+999; + 999; + 999% is simplified to

a. 2997 b. 5979 c. 5994 d. 5997

F(HhHGHS: (9991 +999E + 999§+999ﬂ + 999§ + 9999]
7 7 7 7 7 7

a. 2997 b. 5979 c. 5994 d. 5997

When (2\/5 2 )2 is simplified, we get
a. W5+242 b. 22-4410 C. 8-4410 d. 210-2
(2\/5—\/5)2 BB FHHRIFW  GUIQEILD
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17.

18.

19.

20.

21.

22.

23.

a. 4f5+22 b. 22-410 C. 8—-44/10 d. 210-2

034+0.34 =
a. 0.687 B. 068 C. 0.68 d. 0.687
— b 2 1
x = \5+2then find the value of x*+=
X

a.23 b. 21 c. 18 d. 29
X = J5+2 erarile0 x%% QT OFHIGDLI HTEU0TH.
a.23 b. 21 c.18 d. 29

simplify: 2472x532x3+/50

a. 304115200 b. 720042 C. 144002 d. none of these
F(HhHGB:
a. 30~/115200 b. 7200v2  c. 1440042 d. BaumBpied ergiaLilsvemnev

Simplify: (7 Va -5+4b) (7 Ja+54+b)

a.7a2-5b2 ' b.49a-25b c.49a2-25b2  d. (7Va-5¢b)
FiheG®: (7 Ja -5 +b) (7 Ja+5+b)
a.7a2-5b2 b.49 - 25b c.49a2-25b2  d. (7Va-5¢b)
P -
simplify : 612 o2
a.-2 5 b. 25 C. —’\/_% d. \/_%4
N -

FOEGH = o,
a.-2 5 b. 25 C. —\/_% d. \/_%4

X+% = 2 then X3+%(3
a. 8 b.2 c.6 d. 4

x+%(=26166ﬂ61’) X3+%(365T LDAIIL]
a. 8 b.2 c.6 d.4

24 =4.899 the value of \@ is
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a. 0.544 b.1.33 c. 1.633 d. 2.666

24. y-}§=6fimdthevalueofy3—}(/3

a. 216 b. 222 c.234 d. 228
- = 3 3 : :

y % 6 aaflsd y %3 &1 &L

a. 216 b. 222 c.234 d. 228

25.  simplify: (147 + %2)2 (147~ %2)2 =

a.7 b.5 c. 147 d. 14
EhEGS: (147+ %2)2 (147~ %2)2=
a.”7 b.5 c. 147 d. 14
Level - IIT
26. find the value of a, b it ﬁ_2=aﬁ+b
J7 42

a.a= 4% b=1l/ b. a="11/; b= 4
C. a=—43b=—1% d. a:—%;b:%

-2
+2

a.a=4% b=1 b.a="11/;b= 4,
C. a:—43b=—1% d. a=‘%;b=1%

27. 445 _4-V5 _ a + b5 find the value of a and b.

4

a, b ulen wienL Hmeut. =a\7+b

4

4B 415
ji://_g—j://_;=a+b«/§ dafled a, b &1 WAL EMmeT HTawie.
a.a=1,b=0 b.a=0,b=_1_116
c.a=1,b=E d.a=0,b=§

11 11

28. If x = 3+1, find the value of (x—%)2
a. 3 b.3 c.2 d. 4
X = 3+1 a1afled (x—%)2 6T LI ?
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29.

30.

a. V3 b.3
simplify: __X+8
x* +4x* +16
X+2 X—2
" X2 42x+4 " X24+2x+4
5}@55@55 ﬂ
X* +4x%+16
X+2 X—2
" X2 42X+ 4 " X24+2x+4

Find the value of V5443

J5-3
a.3+ 15 b. 4+ 15
ﬁ:/g &1 LG
a.3+ 15 b. 4+ 15

X+2

T x2-2x+4

X+2
T x2-2x+4

c.2+ 12

c.2+ 12

d. 4

X—2
T x2-2x+4

X—2
" x2-2x+4

d.4 + J12

d.4 + V12
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SIMPLIFICATION WORK SHEET - ANSWER

112 34 56 78910

CDCCDACCB D

111121314 1516|1718 19 20

CDABDDBAC B B

21 2212324 25 26|27 2829 30

AB CCDDDDAB
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